‘? iu Cp= V2R
@. P tol,33 KPa
2 Adipbet’c ¥ ol 505) ,’5ar+-raP-'C
L i ‘ .
" : i< ke . - Reference St
§ Wy = {\.\A H N o 2—§°C.)
| ; i Fol.Sjgp«
' ;:;303,._2}(_ ,/\ A
< 1oco Kpp
‘@: oo kP
? U —
e YRV = AT
4
% (fOf;ggxlo >[2@> 2 b (8.3 93(279’)
£ Ip -;}-%
’ V].: ‘8,‘3!"‘0!6
5 1000
/\b— R’In_r’* ““/&/' 101,35 T
000 " : P9__>J/|: mlﬂ )
| ) ey
rn('“"’?’ :-Z- fh 2. T =s;m2k Py =N AT
: 1
- .Q g | AH CFAT 5

PN | o )L INTER s (275 lrt) /
~ < i 74 " I
d(nv) - Shattn — 2o K., +-,6é%f AR = 6008 e = 27

E | ; ‘ e
;0)(”) gy fn,W.oEL e Y s i
%:FEH”“ _L?(ﬂ(/)-:'oﬁ;n n : = Gk

g ) (UL_@(/) = %(?-3!'—1}/‘7;_297)

4 5
(ﬂ,+ﬂ,h> U, - r),/ﬁf,i: Nin Hin

A )(%2[7‘1-293]') o (n\:‘ ' il > (M
- %
( G 000 > [25(531) (7 298) ) = %'lif’jff L i (3005

fon 33 ik ;
Lgakxlo . ( FSw0

2406 £’ >[go.7zs(“fz-2*%ﬂ Y = )’r = 404 q
= 4.




